MID TERM EXAMINATION I (OPTO 321) 
Student’s Name:

Q1
Select the best answer in each case.

1. All the following are true about Bowman’s membrane EXCEPT that it 

a. is approximately as thick as Descemet’s membrane.

b. Fuses into corneal stroma with no well-defined line of demarcation.

c. Can be considered the basement membrane of the corneal epithelium.

d. Consists mainly of collagen fibrils.

2. Anisocoria is 

a. Eyes have difference in refractive error.

b. Eyes have difference in refractive power.

c. Eyes have difference in corneal power.

d. Eyes have difference in corneal diameter.

e. Eyes have difference in pupil diameter.

3. Prior to using mydriatic drugs, you must

a. Measure pupil diameter.

b. Measure IOP.

c. Examine anterior chamber angle.

d. a and b

e. all the above.

f. .
4. The average normal measurement of female corneal thickness would be

a. 0.32 mm

b. 0.72 mm

c. 0.52 mm

d. 0.92 mm

e. 1.00 mm

5. All the following are true about Descemet’s membrane EXCEPT that it 

a. thin “8-10 um”.

b. elastic membrane, easily separated from the stroma.

c. it can reform.

d. secreted from the endothelium.

e. None of the above.
6. The episcleral tissue is
a. loose in its structure, being composed of a dense fibrous tissue.
b. has a large number of small vessels.
c. adjacent to the uvea.
d. a and b

e. None of the above.
7. Direct blood supply to the sclera comes from the

a. central retinal artery

b. ophthalmic artery

c. posterior ciliary artery 

d. anterior ciliary artery

e. c and d

8. The vascular layer of the eye is
a. uvea
b. cornea

c. limbus 

d. anterior chamber

e. None of the above.
9. Average scleral water content is

a. 47%

b. 68%

c. 22%

d. 78%

e. None of the above

10. Average corneal water content is

a. 47%

b. 68%

c. 22%

d. 78%

e. 90%

Q2
Indicate whether the statement is TRUE or FALSE.

1. Corneal stroma injury can lead to corneal edema. (
)






2. Sclera is relatively inactive metabolcally.
(
)






3. In older age, sclera becomes bluish because of the deposition of fat. (      )




4. The iris sphincter muscles is under parasympathetic control. (
       )

5. The fibrils of the corneal strom lamellae have low tensil strength. (
    )

6. Aesthesiometer is used to measure contrast sensitivity. (
         )
7. The choroids extends from the ora serrata to the optic nerve. (         )
8.Cornea contributes about 2/3 of the outer coat of the eye. (          )

9. Sympathetic nerve fibers supply the vascular plexus at the limbus. (
    )
10. Glycosaminoglycans (GAGs) give brownish appearance to the inner surface of the sclera. (           )

Q3
State 5 factors that affect the amount of corneal refraction.

1.

2.

3.

4.

5.

Q4  Draw and label a cross section of the eye.

